Annual Assessment Report for 2020-2021 AY
Reports completed on assessment activities carried out during the 2020-21 AY will be due September 30th 2021 and must be e-mailed to the Director of Assessment, Dr. Douglas Fraleigh (douglasf@csufresno.edu).
Provide detailed responses for each of the following questions within this word document. Please do NOT insert an index or add formatting. Furthermore, only report on two or three student learning outcomes even if your external accreditor requires you to evaluate four or more outcomes each year. Also be sure to explain or omit specialized or discipline-specific terms. 
Department/Program:  Department of Viticulture and Enology; BSc. Viticulture
Assessment Coordinator: Luca Brillante

1. Please list the learning outcomes you assessed this year.
This report includes assessment activities from 2020/2021. The corresponding SLOs are:
Outcome 1: Graduates will be able to schedule irrigation in grapes.
1. What assignment or survey did you use to assess the outcomes and what method (criteria or rubric) did you use to evaluate the assignment? Please describe the assignment and the criteria or rubric used to evaluate the assignment in detail and, if possible, include copies of the assignment and criteria/rubric at the end of this report. 
Method of assessment: In the final exam of General Viticulture 1, VIT 101, one question will specifically assess ability in scheduling irrigation through common practices. Students will have to calculate the required water amount, based on the evapotranspiration. Accuracy of calculated amounts will be scored as correct or incorrect. 75% of students are expected to meet the learning outcome.
1. What did you learn from your analysis of the data? Please include sample size (how many students were evaluated) and indicate how many students (number or percentage instead of a median or mean) were designated as proficient. 
The assessment is performed on a major requirement for the BS in Viticulture. In Fall 2020 we had 15 students enrolled in this class and 14 of them were evaluated. The students received an average rate of 78% of accurate responses on the overall irrigation quiz. As described in point 2, the SOAP restrains the evaluation to one specific question where students need to calculate actual water amounts for irrigation. In this case 79% of students responded correctly, thus fulfilling expectations. 
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1. What changes, if any, do you recommend based on the assessment data?
Additional guided exercises in the classroom may increase the success rate for this outcome

1. If you recommended any changes in your response to Question 4 in last year’s assessment report, what progress have you made in implementing these changes? If you did not recommend making any changes in last year’s report please write N/A as your answer to this question.
N/A

1. What assessment activities will you be conducting during the next academic year?
Outcome 2: Graduates will be able to recognize core cultivars, clones, and rootstocks and compare and contrast their suitability for field, storage, and market/consumer environments
Method of assessment: The final exam of Grapevine Rootstocks and Varieties, VIT 165 will address ability in recognizing core cultivars, clones, and rootstocks and compare and contrast their suitability for field, storage, and market/consumer environments. Students will have to use core concepts to identify cultivars and rootstocks given in the final exam. 80% of students are expected to meet this learning outcome.
1. Identify and discuss any major issues identified during your last Program Review and in what ways these issues have or have not been addressed.
· Difficulty to access classes from other departments: students struggle to access classes that are required in the program but offered by other departments. As a response to this, faculty has created new courses to mitigate problems related with delays in time to graduation. New courses are already underway to be approved by the University. 
· Vineyard access for hands-on activities present but not in sufficient quantity or quality. This issue stems from budget restrictions and commercial scope of UAL where a minimal allocation is dedicated to classroom activities.

Appendix A. 
Example of assessment: 

This is a whole quiz of 50 questions on irrigation of grapevines. Example of questions directly related to the learning outcome are encircled in a red box.
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Question 18 S

Field capacity corresponds to a soil potential of:

Question 19 LS

Cite three irrigation systems used to irigate grapes in California

Answer 1:
surface

Answer 2:
sprinkler

Answer 3:

drip

Question 20 S

If there is a difference between the Total Transpirable Soil Water and the soil water holding capacity, the.
difference sitsin:

the way the ower soil water it i taken nto account for computation

the way the igher and lower soflwater it are taken ino account for computation

the way the Wigher sl water imt i taken into account for computation

there s no differenc

Question 21 LS

‘The Total Transpirable Soil Water and the Soil Water Holding Capacity are two words for the same
concept

Tue





image7.png
1/1ps

Question 22
‘The soil water holding capacity s -
the difference between the amount of 5ol water at saturation and the amount o sl water a field capacity

the difference between the amount of il water at. ield capacty and the amount of sl water at the witing
point

the difference bet
point

1 the amount o sl waler a sauration and the amountof oflwater at the wilting

the amount ofsoil atr atfed capacity

BRI Qucsion 20 o/ipe

‘The crop evapotranspiration of a Thompson Seedless with Ke «0.5 in 2 week where ET0 was 2 inches

osin
tin

T vesion 24 s

Select true statements

Soll Water holding capacityis a propery of the crop n a given soil

‘Soilwater holding capacity takes into account plant water potentialino defining the amount of water
avallable to the plant

‘Soilwater holding capacity may estimate or underestimate available water L the plant, 35 grapevine may.
absorb water at  lower threshold that the pesmanent willing poin 50l waer potential = -15KPa)

Soilwater holding capacity may estimate or underestimate avallable water 0 the plant, a tis depends on

oot ditrbution.

‘Question 25 LS

Permanent wilting point corresponds to a soil potential of:

053kPa

033kPa

@

15kPa
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Question 26 s

Select true statement about soil at permanent wilting point:

the miimum soil mosture at which a plant will and can no longer recover s turgdity

Water is present n icropores and i very thin flms around sl partices but i no longer avallable o pant

<ol and cry and does no longer contains waler

11
Question 27 G5
The crop coefficient (select all that is true):
s afactorthat canbe sed o ansfor refeence exapotranspirationno cop xapotranspiration
s anintegrator o fafcharacteistcs (secie ependent) and e arc iz dependent)
11
Question 28 P
Match the irrigation strategies to their definition
‘Sustained Deficit Irrigation Water supply to the vine is v
Regulated Defict Irrigation Water supply is restricted f
Partial rootzone drying Alterate wetting and dryit v
11
Question 29 G5

Match stem water potentia values to the appropriate water stress range (interpretation suggested for
Cabernet-Sauvignon)

No water deficit ~-10Mpa o
Weak water deficit P o
Moderate water deficit 1200-16MPa v

Severe water deficit T o
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Question 30 1/1ps

Soil water at field capacity (select true statement):

is defined as the minimum sofl moisture in a given soil i feld conditions

approximates the amount of water that s held i sol after it has been fully wetted and all raviationsl water

has been drained away.
is the amountofsoil water avallble o the plant
is defined as the maximum sofl malsture n a ghven soil i feld conditons

BT o.cion 51 07 /100

Select soil components increasing the soil water holding capacity:

Sodicity

rooting depth

rock ragments

higher amount of clay

organic matter

Question 32 S

‘Complete the folowing sentence by fllng the blank spaces (il in lowercasel:
Emission uniformity is defined as the average discharge of | 25 % of the sampled

emitters with the | least discharge, divided by the average discharge of |

sampled emitters.

Answer 1:
2
Answer 2

least
Answer 3:

Question 33 S

In 2 non stress deficit iigation strategy the coefficient of deficit irigation is
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D Queston 34 o

‘Water potentials ae affected by soil and atmospheric conditions, when using it for irrigation (select all
thatis truek:

inwarm days plan sress s overestimated

the sol satus s  nisance fator that should be accaunt for

foririgation purposes eaf water poteniials should be mesured i the warmest and drest days s these are
the best unbiased conditions

the atmosphere conditon s 3 nuisance factor, tha should be accounted for

Question 35 LS

Delaying the

irrgation of a season s not an effective method of water conservation.

Tue

Question 36 S

‘The FTSW is the percentage of the TTSW that is still available to the plant:

For your help:
FTSW s acronym of Fraction of Transpirable Soil Water

TTSW is acronym of Total Transpirable Soil Water:

Tue

Fakse
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Question 37 S

‘Complete the following equations (using acronyms in capital letters) adding the left term in the blank.
space

ASW S SV Wasy — SV Wi
W

W S SVWy. — SV Wi
Foryour help:

SVWy. is the soil volume water at field capacity
SV Wiy i the minimum meastired soil volume water
SVWaa, is the measured soil volume water i a day of measurement

dis rooting depth
Answer 1:

AsW
Answer 2:

FTsw
Answer 3:

TSW

Question 38 S

‘What s the Kc of a Thompson Seedless vineyard where the soil s 50% shaded at midday

Question 39 LS

Self-compensating emitters do not need to be checked for efficiency.

T
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Question 40

1/1ps

Select soil components decreasing the soil water holding capacity:

igher amount of cay
rock fragments
higher amount of sand
compaction

organic matter

osmotic pressure:

Question 41

1/1ps

‘What s the Kc of a Thompson Seedless vineyard where the soil s 70% shaded at midday

Question 42

1/1ps

Inaweek where ETO was 2
irrigated using sustained defiit irigation with KDI- 0.5 is:

0725

1125

s, the irigation amount for a Thompson Seedless with Ke ~0.75
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Question 43 1/1ps

In 2 week where ETO was 2 inches, the irigation amount for a Thompson Seedless with Ke -0.25
irrigated using sustained defiit irigation with KDI- 0.5 is:

025in

tin

Question 44 1/1ps

Global production of raisins decreased in the last 15 years

Tue

Question 45 S

In 2 woody root the stele differentiates into:

cortex
xylem and phioem

amiloplasts

Question 46 1/1ps

Prompt buds.

originate laterals

are in adlary position

disclose the same year they formed

Question 47 1/1ps

How many chromosomes are in a adult individual of the genus Vitis?
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Question 47

1/1ps

How many chromosomes are in a adult individual of the genus Vitis?

Question 48

1/1ps

During leaf senescence what s dismantled first?

chloroplasts

Question 49

1/1ps

‘The color of the leaves in falis due to:

‘Gegradation of chlorophill happens fis, 5o that carotencids ae vsible:

production of anthocyanins

‘Question 50

1/1ps

Bleeding has the role of

toring functionaity of cavitated phioern ves

restorng functionaltyof cavitaed xylem vessels

bring energy 2s sugar o the buds and rehydrate them

Quiz Score: 45.17 out of 50
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Attempts: 14 out of 14

In a week where ETO was 2 inches, the irrigation amount for a
25 irrigated using sustained deficit

Thompson Seedless with Kc =t
irrigation with KDI= 0.5 is:

L respondent
L respondent
11 respondents
Lrespondent

+0.53

Discrimination Index
@

79% answered
correctly
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6. Irrigation quiz Results for Antonios Marinos

(@ Correct answers are hidden.

Score for this attempt: 45.17 out of 50
‘Submitted Oct 3, 2020 at 12:41pm

Question 1 LS
‘The theory that explains water movement in the | 501 ~plant. | atmesphere
continuumis called the | coliesion - tension theory (be careful to the spellin).

Answer 1:
soil

Answer 2:
atmosphere

Answer 3:
cohesion

Answer 4:

tension

[_orec e

ylem elements can be filled with air when tension is excessive,

phenomenon i called

sccding

Question 3 LS

‘The most abundant isotope of carbon i the

14¢

13¢

Question 4 LS

‘When relative humidity is 100%, ai

‘Question 5 LS

‘One plant can extract water from regions of soil that have lower water potential than the plant water
potential

Tru
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Question 6 LS

Chose the correct order from higher to lower water potential values:

stem > predawn leaf > micday lef

midday lea > midday stem > predawn lea

predawn eaf > midday stem > midday leaf

Question 7 LS

A1 % variation in the carbon isotope discrimination of grape juice at harvest roughly corresponds to an
average variation in midday stem water potential between veraison and harvest of.

04 MPa and seems o not be variety depender

1MPa and seems to not b pendent

0.2 MPa and seems to ot be variety dependent.

MPa and scems to o be variety depende

Question 8 S

‘The stable isotope of the carbon are.

12Cand 14¢

12Cand 13C

13Cand 14¢

Question 9 S

Match stomatal conductance values to the appropriate water stress range

Mild water stress 150200 mmol H2Om-25

Moderate water stress. 50-150 Mol H2OM-25-

Severe water stress <50mmol H2Om251

Question 10 LS

‘What s the Kc of a Thompson Seedless vineyard where the soil s 30% shaded at midday
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Question 11 S

Cite four soil components that can affect the soil water holding capacity:

| rock ragments

Answer 4:

bulk density.

Question 12 S

‘The coefficient of defict irrigation is  factor that multiplied by the ETe is used to reduce the irrigation
‘amounts in a given time of the year.

Tue

Fakse

Question 13 S

‘The crop evapotranspiration of a Thompson Seedless with Ke «0.75 in 2 week where ET0 was 2 inches

025in

15

Question 14 S

Match carbon isotope discrimination values to the appropriate water stress (suggested interpretation for
Cabernet-Sauvignon)

Nowater stress g o

Moderate to severe water stress. A o

Severe water stress p— o
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Question 15 S

‘The Fraction of Transpirable Soil Water, FTSW is:
{foryour help:

TTSW is acronym of Total Transpirable Soil Water:
SWHC is acronym of Soil Water Holding Capacity;

ASW s acronym of Available Soil Water)

TISWASW

TISWisWHC

ASWTTSW

ASWTTSW

Question 16 S

‘The crop evapotranspiration of a Thompson Seedless with Kc <0.25 in a week where ETO was

osin

2250

tin

R Queston 17 os/1ve

Select the true statement, TTSW is acronym of Total Transpirable Soil Water - SWHC is acronym of Soil
‘Water Holding Capacity:

“The TTSW demands measurement of soflwater and plant water strss 1o be estimated
oncept of SWHC does not diecty includes the plant inthe computation of the permanent iltng point.
nsidered ntinsc il property

I both the TTSW and the SWHC the amount of water avallabie s a function of rooting depth

“The concept of TTSW modifesthe sl water holding capacity concept 1o nclude the plant i the
‘computation of avalable water





